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H: EXNRX (MY - SAI/MSEEE - DT}

@ EUNRIIEs 23 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OJIYRX 2==A=Z Z&= 4,000
JHENZEL MAHA =F 2 84,800 88,610 A 3,810
201 Let24d] 9,200 13,010 A 3,810
01 At 22l 9,200 13,010 A 3,810
OZURZE 01D MEBYAC 4,200
OFXNRX 29 2¢ 5,000
301 L2 A S 75,600 75,600 0
11IIEtEA S 75,600 75,600 0
OFXRX X2g =< 75,600
Ol&JIe MBI 10,895,655 10,599, 000 296,655
& 7,450,998
< 3,444,657
=@ 0l&IY BEX3 XNA(=21) 8,395,655 10,599, 000 A 2,203,345
= 7,450,998
< 944,657
403 MtXISHE X201 & 8,395,655 10,599, 000 A 2,203,345
= 7,450,998
< 944,657
01 AXSHHMA2E = 8,395,655 10,599, 000 A 2,203,345
QOol&IIY BEX3 8,395,655
& 7,450,998
< 944,657
EtAIE OIMDIY Ex3 K& 2,500,000 0 2,500,000
403 UHXSHHSA=0l& 2,500,000 0 2,500,000
01 HXSHMA=E X 2,500,000 0 2,500,000
OZUOId SURE E0IY SEXNH 2,500,000
Y 2 2L XA 27,000 27,000 0
S48 FE2Y 29 27,000 27,000 0
201 LB-2d | 27,000 27,000 0
02 3322l 27,000 27,000 0
OZFLY2cFEY 2IH 2E3 27,000
S0l ZH(AY - SAIY/MHAE - DT 3FH 9,897,026 10, 186, 000 A 288,974
& 9,849,000
< 48,026
APHERXI = A 2el _new 9,897,026 0 9,897,026
& 9,849,000
< 48,026
NAES s 248 (21) _new 700,000 0 700,000
& 700,000
403 tXSHHE =01 & 700,000 0 700,000
& 700,000
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 XIS A 2E X 700,000 0 700,000
OXLE FE2AR=Z2HUX =FI|BAIE FHH| 150,000
2 150,000
Oxzx HEsZ2HA =FIIEAIAE A 250,000
2 250,000
O3 =B =FI|BFAIE AHH| 200,000
2 200,000
Oy T2 =FIIEAIE A 100,000
2 100,000
LA K _new 48,026 0 48,026
201 B9 20,000 0 20,000
01 AP 22| H| 20,000 0 20,000
OMATHTHEA/AK]TG 29 20,000
202 044 28,026 0 28,026
01 2L HI 28,026 0 28,026
OAHER K& Z2FN 28,026
AACT 2L HAE(=21D) 9,149,000 0 9,149,000
2 9,149,000
403 XX S M S K201 H 9,149,000 0 9,149,000
2 9,149,000
01 AIXSHHMAS2E X 9,149,000 0 9,149,000
OF=d =Y LBHAIACHT] 1,811,000
2 1,811,000
O&Hd 2 LtAIACHT] 6,522,000
2 6,522,000
OZEE ECIA0F LA CX] 816,000
2 816,000
SEE2 T2ME JIANFH(2EL XML /NI LZAl) 12,201,400 12,905,645 AT04,245
2 2,000,000
= 10,201,400
DIeH KNS HEZA 4 10,000,000 12,512,000 A2,512,000
HEFINGEA JAEZ A 10,000,000 10,000,000 0
401 Al HI L 204 HI 10,000,000 10,000,000 0
01 Al&H| 9,600,000 9,400,000 200,000
OXATZ (XL E 4095) Al&H| 9,600,000
02 2eldl 370,000 570,000 A 200,000
O&ATZ2 (KT 4095 ) el 370,000
03 Al 201 Y| 30,000 30,000 0
ORATZ2 (XL E 4095) AlIEE2MHY| 30,000
DIGHXKI&E HEEZAl 4 _new 1,812,000 0 1,812,000
2 1,800,000
& 12,000
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HHM: RE2 ZZ2ME FANSHELXAMNL/TALE A

Rl DICHRNEE HEZ A A _new (2 &HH)
- RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
YAl A _new 12,000 0 12,000
201 LBt 9 ]| 2,000 0 2,000
01 AP 22| H| 2,000 0 2,000
OJIEZAl HE 2FA 2,000
202 044l 10,000 0 10,000
01 2L Y| 10,000 0 10,000
OJILEA HE Z2FXN 10,000
AL Al JIBHAIE X (=21D) _new 1,800,000 0 1,800,000
2 1,800,000
403 XAIXISHHM S X201 A 1,800,000 0 1,800,000
2 1,800,000
01 XIS A2E X 1,800,000 0 1,800,000
ORUETZ2(2E7S) W& 1,800,000
2 1,800,000
SMNEA A8 2 2012 0l & _new 389,400 0 389,400
2 200,000
& 189,400
SNEA A4 HAXF 14,400 0 14,400
201 B9 4,400 0 4,400
01 AP 22| H| 4,400 0 4,400
OHAMGTA AL Y2EX 4,400
202 044 10,000 0 10,000
01 2L Hl 10,000 0 10,000
OSEATZA HE Z2FXN 10,000
SAMEAHERLUAMAE X (Z1D) _new 375,000 0 375,000
2 200,000
o 175,000
201 et 208,900 0 208,900
2 104,450
= 104,450
01 AP 2t 2| H| 69,900 0 69,900
OSEA T Al HELAMEH 29 14,900
2 7,450
& 7,450
OEEAMEZA HELAME X239 29 5,000
2 2,500
= 2,500
O¥tstAd QIIX& T/FE 29 2,000
2 1,000
& 1,000
OEEE2 MZE(MI, JIEE, GAPT MZH) 22,000
2 11,000
= 11,000




2N

A REHE DZEHE JAHIFELXIML /UL Al
Sl HATA AA L BB OIF _new (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O0lIdEEJ/2 LCO F&a&al 26,000
= 13,000
< 13,000
03 A2 S Hl 139,000 0 139,000
OFAsX &3 A 80,000
2 40,000
< 40,000
Oo0l&II&2 /38 ¢ U232 A 47,000
= 23,500
= 23,500
OXIHLEE A 12,000
2 6,000
< 6,000
202 oddl 10,000 0 10,000
2 5,000
= 5,000
01 = LH o4 1l 10,000 0 10,000
O AT Al HIXNLIAHE AIHFX 10,000
= 5,000
< 5,000
207 RO 34,000 0 34,000
=1 17,000
< 17,000
01 A3l 34,000 0 34,000
OSAZAl ABOIZRAH 243 28 B 34,000
2 17,000
< 17,000
301 L2 A= 2,100 0 2,100
& 1,050
< 1,050
09 AL HI BN = 2,100 0 2,100
O|/3AE EItA AHIE4 2,100
& 1,050
< 1,050
307 21201 A 45,000 0 45,000
= 22,500
< 22,500
02 B AEXS 10,000 0 10,000
OOIZBRRS HHY MASHS 222 10,000
2 5,000
< 5,000
04 QIZtHAIE XS 35,000 0 35,000
O0IdEz3712 dAF L NFAFL WF 35,000
& 17,500
< 17,500
308 XX EHHSOIA 75,000 0 75,000
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A REHE DZEHE JAHIFELXIML /UL Al
Sl HATA AA L BB OIF _new (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
& 50,000
< 25,000
01 AXHHIYEES 75,000 0 75,000
OSHAMEA 43t & 08I HEHXR 75,000
& 50,000
= 25,000
HYLRIZH (FENRE L 2)(IIEH/DIE) 44,200 71,000 226,800
Jl23&dl 44,200 71,000 226,800
EM29 J=22Z 4l 44,200 27,000 17,200
201 Let2d] 30,000 20,000 10,000
01 At 22l 30,000 20,000 10,000
ORA2Y AtR2eltl 30,000
202 O4dl 10,000 7,000 3,000
01 = LH 4 Hi 10,000 7,000 3,000
ORM2E =UHH 10,000
203 YR =&l 4,200 0 4,200
04 NI 4,200 0 4,200

©30¢! Ol ot 350,000& 12 4,200




